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Scanner External Calibration Algorithm Based on Fixed Point

CUI Peizhi, ZHU Sheng, SHEN Canduo, GUO Yingchun
(National Key Laboratory of Defense Technology for Equipment Remanufacture, Beijing 100072)

Abstract This paper deals with the scanner exterior calibration algorithm when the scanner is arranged by the robot and the object scanned is fixed
on a rotate device in the robot remanufacture system. The method of calibrating the relationship between the scanner coordinate and the robot 7ool,
such as the rotation R ., R ,, R .and the transformation X, VY, Z is studied. The data of Tool,can be directly obtained from its relationship with the
robot base-coordinate. So, the coordinate relationship between the scanner coordinate and the robot base coordinate can be easily gotten. The paper
explains the basic algorithm theory, computing method, data collecting process, the result data analysis, and etc.. The calibration algorithm is
deduced under the orthogonal coordinate.
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